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HH 47280 | 44290 | 4A30H | 5A1H | 5A2H | 5H3H | 5H4H | 5A5H | 5A6H ozt
I H A K 7K A & + H A ok a
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AH 4280 | 44290 | 4H30H | 5A1H 512 H 53 H 514 H 55H 5H6H e
I H PN 7K S & + H H P K =
BE 30 72 24 15 40 50 106 105 83 525
bR 1 8 5 2 2 4 8 2 6 38
LHFH) K0T 5A3~50 149
BEK 58.3 76.0 87.0
Pt 4.2 5.0 4.7
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AR 428H | 44290 | 4H430R | 5H1H 512 H 51 3H 514H 5H5H 5H6H P
e K & & + H )] PR 7K & o
BE 34 63 36 73 35 120 118 120 44 693
bR 4 4 7 8 5 2 2 3 9 14
LHFH) K0T 5A3~50 1749
BEK 77.0 96.5 119.3
bR 4.9 4.0 2.3
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AH 428H | 44290 | 4H30H | 5H1H 5 2H 513H 5H4H 5H5H 5H6H P
[egE] ) & 1+ H A K 7K 7 4= =
BE 19 71 62 56 36 76 106 94 28 548
bR 5 6 10 3 5 4 3 7 4 47
1 H ) [R#2 0 |5A3~50 %
BAEK 60.9 77.5 92.0
Pt 5.2 5.5 4.7
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AH 428 H | 4H29H | 4H30H | 5A1H 5H2H 5H3H 5H4H 5H5H 5H6H P
[RE] + H H P 7K x & + B =
BEK 54 54 83 26 36 70 78 81 72 554
bRy 5 6 6 9 6 4 4 2 6 18
1 H Y |1k B | 5A3~50 1
BEK 61.6 70.3 76.3
Pt 5.3 4.7 3.3
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AH 4JJ28H | 4H29H | 4H30H | 5A1H 52 H 513H 514 H 5H5H 5H6H P
(4] H H PR 7K A N + H A =
BE 56 87 22 23 24 92 81 85 92 562
bRy 9 9 8 7 4 11 10 9 3 70
1H Y |1k H Y| 5A3~50 %8
BAEK 62.4 82.2 86.0
Pt 7.8 8.5 10.0




